Queen Bed

Assembly Instructions

o Assembled View

Storage A Storage B Storage B

Storage can be assembled
on the left or on the right.

Parts in Box A- Storage A:

\—@ Storage Top Panel x 1

Storage Front Frame x 1

\—@ Storage Rear Frame x 1

Storage A

Use 2 People

Note: Do not assemble
using power tools.
This can cause the bolts

to be overtightened

_____________________________________________ -

SR

Storage Side Panel
(Left Hand) x 1

r

Storage Side Panel
(Right Hand) x 1

2

Storage

|
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
I
Support Bar x 2 |
)

Page 1 of 15




Queen Bed

Assembly Instructions

T T T — — — — — — — — — — — — — —— — — —— — ————— BN
I Parts in Box B- Storage B: I
: i 1
ffffffff Longer———————==

= |
I ° ° o of I
| . . . |
I ) : I
I Lower Panel x 1 I
I Top Panel (Longer) x 1 I
I I
| = Shorter —— ————-—= == . ° } |
- |
| . J Lower Rail x 1 |
I i ] I
I I
I I
I Center Panel (Shorter) x 1 / % I
| - |
I I
I , I
| & |
) . |
I I
| | | |
| , |
I Front Frame x 1 \_@ \\_® I

I
I Storage Side Panel Storage Side Panel |
| (Left Hand) x 1 (Right Hand) x 1 |
I I
I I
I I
: :
| I—@ Rear Frame x 1 Storage |
| Support Bar x 2 |
~—_- J
- """""""-"""""""""""-""—"7—"—7">"—" ﬁl
I Parts in Box C |
I A AMAAAAAAEAAAAF I
| nnnnnnnnnnn

. . |

I I
I Head / Footboard Panel x 2 I
| . . . . |
- 18] |

I
I t@) Side Rail x 2 |
| JUUUULLULLLLODYL |
I [ ° ° o 0 B ° i} I
I Set of Bed Slat x 1 |
I I—@ Long Support x 1 I
( )

Page 2 of 15




Queen Bed

Assembly Instructions

9 Hardware List

@ Center Rail

Bracket x 2

@ 'L’ Bracket

(5003) x 4

M4 x 16mm) x 10 M4 x 25mm) x 22

o (P
@ M6 x 20mm JCB @ M6 x 30mm JCOB
X8 X 36

Assembled the Storage B
@ Fit the 'L Bracket in place.

@ Spring

@ 'L' Bracket
(

5005-3)
x8

G ©

@ Flat

Washer x 8 Washer x 8

(et [un
Wood Screw @ Wood Screw @ Wood Screw
( ( (

M4 x 32mm) x 57

@ M6 x 15mm JCB
x 20

[

M6 x 40mm JCB
x 20

—

=

Page 3 of 15




Queen Bed

Assembly Instructions

@ Assemble the Lower Panel (O) & Lower Rail (P)
to the Storage Support Bar (S).

(@ Fit the Side Panel (Q & R) to the

Lower Panel (O) & Lower Rail (P). \

i
/

LS

Back

Page 4 of 15




Queen Bed

Assembly Instructions

9 Attach the Center Panel (L) to
the Storage Side Panel (Q & R).

Front

(9

\

A

J

Page 5 of 15




Queen Bed
Assembly Instructions

Page 6 of 15

@ Attach the Top Panel (K)
w -
@

9 Fit the Rear Frame (N).




Queen Bed

Assembly Instructions

@ Tighten the Front Frame (M) with
Wood Screw (M4 x 25mm).

I

P Tighten the Rear Frame (N) with
Wood Screw (M4 x 32mm).

Page 7 of 15




Queen Bed

Assembly Instructions

Assembled the Storage A
@ Fitthe L' Bracket in place.

@ Assemble the Storage Lower Panel (D) &
Storage Lower Rail (F) to the Storage Support Bar (J).

Page 8 of 15




Queen Bed

Assembly Instructions

@ Fit the Storage Side Panel (G & H) to the
Storage Lower Panel (D) & Storage Lower Rail (F). =

| G Back B

- J

Page 9 of 15




Queen Bed

Assembly Instructions

@ Attach the Storage Front Frame (B).

Fit the Plug into the cut-out holes. e
]

P

/

Front

@ Fit the Storage Rear Frame (C).

~N

Page 10 of 15




Queen Bed

Assembly Instructions

D Attach the Top Panel (A) to the

@ Tighten the Storage Top Panel (A) with

Storage Side Panel (G & H).

Wood Screw (M4 x 25mm). II &

Front

K
- Page 11 of 15




Queen Bed

Assembly Instructions

@ Tighten the Storage Top Panel (A) with
Wood Screw (M4 x 32mm).

\, Back

@ Fit the Center Rail Bracket to the
Head / Footboard (T). @

Page 12 of 15




Queen Bed

Assembly Instructions

@ Assemble the Side Rail (U) to the
Head / Footboard (T).

@ Bolt the Long Support (V) to the
Center Rail Brackets on the Head & Footboard (T).

Page 13 of 15




Queen Bed

Assembly Instructions

€5 Bolt & screw the Bed Slats (W) to the Side Rail.

. N
T 14
I ™ 4 L1
|| j ||
] I 17 \°
|| I ||
- : 14

| |
| |
| |
| |
ol o |o
——
| |
| |
| |
| |
| |

1 I T —T

I I I AN
I j [

1 y—
1 ¥ ||
1

@J

@ Fit the Assembled Storage B to the Headboard.

(9

Assembled
Storage B

Page 14 of 15




Queen Bed

Assembly Instructions

@ Storage can be assembled on the left or on the right.

On the Left

Assemble the Assembled
Storage A to the Side Rail (U).

Assembled

On the Right Storage B j‘ |l

Page 15 of 15






